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WARM-UP: Convert the following... / b2 = 2?9{\9

AL

a) 56 g= 1.97 oz /k7 s41

be,\ _L_—Qt /,é = / /é/l
2519

b) 120 1bs =54.95 kg

{JO\L;X | kg
). bs

c) 340z=96b5.6 ¢

Way, 2:¥g
| ov




06, 2015
Untitled.notebook October

SOLUTIONS...

Name : Score :

Teacher : Date :

Coﬁxﬁing Erglish an:i-'MeE;

1) 16.53 pounds = 7.5 kilograms
2 ) 0.63 ounces = 18 grams
3) 135 pounds = 6.12 kilograms
4 ) 15 ounces = 42524  grams
5) 3527 pounds = 186 kilograms
6 ) 125 pounds = 567 kilograms
7)8 ounces = 226.8 grams
8 ) 0.51 ounces = 145 grams
9 ) 882 pounds = 4 kilograms
10 ) 0.65 ounces = 185 grams
11) 474 pounds = 215  kilograms
12) 25 ounces = _70.87 grams
13) 0.34 ounces = 95 grams
14) 0.69 ounces = _195 grams
15) 20 pounds = 907 kilograms
16 ) 17 pounds = 1.1 kilograms
17 ) 6.5 pounds = 295 kilograms
18 ) 1543 pounds = 7 ___ kilograms
19) 85 ounces = _240.97  grams

20) 22 ounces 623.69  grams

Geometry, Measurement & Finance 10 %: Math-Aids.Com
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NEED ANSWERS???

‘Section 5.3 Detailed Solutions.pdf

)
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Making Conversions

During class today you will learn how to convert a unit of volume o a
unit of weight.
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MATH ON THE JOB

Aislin’s family owns and operates an organic farm in Kinkora, Prince Edward Island. The
farm has been in the family for four generations; it was Aislin’s great-grandfather who
first started growing potatoes on the farm in 1890.

Aislin grew up on the farm and always knew she wanted to continue on in the family
business. After high school, she attended Nova Scotia Agricultural College (NSAC), just
outside Truro, Nova Scotia, where she earned a diploma in agricultural business. She
returned home to the family farm in 1999 and started thinking about the opportunities
in organic farming. She took distance courses through NSAC to earn a Certificate of
Specialization in Organic Agriculture, and started working towards organic certification
for the farm. The farm’s crops are all now certified organic.

A customer is purchasin is grganic cattle. The barley
costs $3.59 per bushel(One tonne of barley contains 45.9 bus The barley was loaded ; \
directly into a truck that weighed 5550 kg when empty. When loaded, the truck weighed o . :
12100 kg. - ' a % Aislin’s family grows organic

— barley, oats, soybeans, and
a] How many bushels of barley were loaded into the truck? wheat.
b} How much will Aislin charge the customer for the barle%\(\”b
Bushel: - is a measurement of volume (equal to about 2220 in3)
- abbreviated as 'bu’

Question a) Note the conversion factor for
converting bushels of barley to metric
tonnes is 45.9. Also, be aware of the
difference in weight between a loaded truck

nd an empt ruk
Sh S

Questlon b) Use your answer from (a) to

determine the correct price. B & ey
Yy 554 101174
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Math on the Job Solution

a) Calculate the weight of the barley
12,100 kg - 5,500 kg = 6,550 kg
Convert kg to tonnes
6550 kg / 1000 kg/+ = 655t
Convert tonnes to bushels
6.55 t+ X 45.9 bu/t = 300.65 bu (rounded off)

About 301 bushels were loaded onto the truck.

b) 300.65 bu X $3.59/bu = $1079.33
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One More Example...

How many bushels (bu d are there in 2.4 tonnes, if the
conversion factor 39i6§ bushels/tonne?
39 Zdow
/. LH/)‘ —7? = 07“( LV\

2.4 1X39.368 bu/t = 94.5 bu

Solution:
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Try this one!

Laila bought 5 bushels of sunflower seeds. If the conversionis  73.487
tﬂt, what is the weight of sunflower seeds:

a) in kilograms? Remember: 1000 kg =1+
b) in pounds? 1kg=22Ibs

Sbay | £ 000k

_ M{Kb a) 67.9 kg

b) 149 Ibs

D) Gk, &2 (SDI
) UPEYx \k”} :-
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What does a conversion factor tell you???
EXAMPLE #1...

0/7 ?L /)\N LV\
The conversion factor for white beans is°36.744 bu/t,)and for corn it
9.368 bu/t) Which weighs more per unit voiume?
m\/‘
Z F6. vl \/k’

.92?21532??
79,3657
);&7 T ezsenzanz

?‘7\,3&% b

White Beans
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EXAMPLE #2

Alphonse is making chicken kebabs for 14 people. His recipe suggests
about 7 oz of chicken per person. At the grocery store, the weight of the
chicken is labelled in kilograms. How much chicken does Alphonse need to

buy? Remember: 1 kg = 2.2 Ibs

/ﬁ/) /%X? 763% 1oz=284g
qgv% /_JJ XF—IE? 2”?5 2.8 kg

“0 oz J )\“95
-

10
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EXAMPLE #3: / ch AN

A crane can lift a maximum of 5 t. Sandstone weighs about 150 Ib per cubic
foot, and a container contains 70 cubic feet of sandstone. Can the crane be

used to load the container onto a train? I

ISB) 70 £F° s ths
ES S
g

{0600 WY 3& M ‘000 ‘é] “{ 775

11
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EXAMPLE #4:

Josephine is sending a gift of a bottle of maple syryp that weigh@and
3 packages of smoked salmon that each weigh* If the package's
total weight is less than 2 kg, she can ship it at a Cheaper rate. Will she be

s Lo - /3 b 1

22

12
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Homework: 5.4 - Making Conversions.pdf

Page 215: Questions 1 -7

Note: #4... 1 L of water = 1 kg

October 06, 2015

13
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GMF 10
Worksheet — 5.4 Making Conversions

| BUILD YOUR SKILLS

1. A box of baseballs arrives at Vinny’s sporting goods store. The box of
balls weighs 266 oz and there are 50 baseballs in the box. Vinny discards
the box, which weighed 1 pound. What is the weight of each baseball in
grams?

2. Inher restaurant, Hana uses 25 Ib of sugar each day. She asks Raj, her
stock clerk, to order enough for the month of January. The sugar comes in
10 kg bags. How many bags of sugar must Raj order to be sure they have

enough?

3. Hong is a building contractor. The building code in his area requires
that roofs be built to withstand 30 pounds of weight per square foot of
horizontal area.

a) How many kilograms per square metre is this?
= b) After a snowfall, a square foot of flat roof covered with snow has a
weight of 18.1 pounds pressing on it. If the flat area of the roof of a
house is 1700 square feet, what is the weight of the snow on the roof:
) in pounds? ii) in kilograms?

4. Krystina is stacking flats of 355 mL bottles of water on a shelf. If there are
24 bottles in a flat, how much will 12 flats weigh? Ignore the weight of
the plastic bottles and the cardboard flat.

a) in kilograms?
b) in pounds?
e : 5. Craig and Genevieve have purchased 26 cases of birdseed. Each case
Did you know that 1 litre of contains 16 boxes that weigh 20 ounces each. How much do the 26 cases
water weighs 1 kilogram? weigh:
a) in pounds?
5.4 MAKING CONVERSIONS
b) in kilograms?
BUILD YOUR SKILLS, PAGE 215
N BT , I 142
6. The conversion factor for changing cubic metres of wheat to tonnes is
0.778. Frank has been told that he can estimate the 2. 36 bags
volume of grain dumped on the ground by using i & 3
7+ theformula V=1xwx h x 0.5. If the length of the a0 kg
pile is 25 feet, the width is 15 feet, and the height is B 1 30770 pounds
“\ approximately 7 feet, how many bushels of wheat are _
Lo $* 25' in the pile? (1 tonne of wheat contains approximately W 1358636 kg
7. Jason is having a new elevator installed in the four-storey apartment by 2251b
building he manages. Although many people will use the stairs, he knows
that at times 5 or 6 people will be on the elevator, and more importantly, 5 @ 52010
it will be used to move furniture. He estimates that the heaviest piece B 2364 ke
of furniture that people will move will be an upright grand piano. He b
has checked with movers and has found that pianos can weigh up to 6. 1062 bushels
545 kg. He assumes that two strong people would be needed to move a The d kit i
piano and they would ride with it in the elevator. To be on the safe side, o FUCCRNMON BRI DVE 8 CHRCRY, O 3 Xeast
Jason estimates that they will weigh about 90 kg each. The elevators he is 2000 pounds.
considering have ratings of no more than 1000, 2000, 3000, 4000, 5000,
or 6000 pounds. What is the lowest-rated elevator that Jason should
install?
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Section 5.3 Mass in the Systéme International, Build Your Skills, p311-313
Student Resource p209-210

Build Your Skills

1. a) ii. a penny
b) i. this textbook
¢) i. a thumbtack
d) i. a bull

2. a) No. Even a small truck would weigh more than a tonne.

b) No. A newborn baby weighs 3000 or 4000 grams.

c¢) No. A hockey puck weighs considerably less—about 150 to 170 g.
d) Yes

e) Yes

f) Yes

g) No. One tonne is 1000 kg, which is approximately 2200 Ib.

h) No. A pound is less than half a kilogram.

3.a) 250 mg equals 0.250 g

0.5+0.250=2

You will have to take 2 pills at a time.

b) Calculate how many pills you will take in 5 days.
5x3x2=30pills

Determine how many mg of penicillin are in 30 pills.
30 x 250 = 7500 mg

c) First convert milligrams to grams.

=75¢g
Then convert grams to kilograms.
—=0.0075 kg

4. First convert tonnes to kilograms.

0.5t x 1000 kg/t =500 kg

6% nitrogen:

Convert 6% to a decimal and determine the amount needed.
6% =0.06

0.06 x 500 =30 kg

7% phosphorus:

0.07 x 500 =35 kg

5% potassium:

0.05 x 500 =25 kg

5. First determine the volume of the tank.

V=Ixwxh

V=34mx25mx4.1m

V=3485m’

Since there are 1000 cm” per litre, determine the volume in centimetres.
1 m’=100 cm x 100 cm x 100 cm





1 m’= 1000 000 cm’
34.85ms x 1 000 000 = 34 850 000 cm®
Then calculate how many litres this is. This can be done using a proportion.

1000x = 34 850 000

x=34850L

Finally, calculate the weight of the air. Air weighs 1.29 g/L.
34850L x1.29 g/L=449565¢

The air in the tank weighs 44 956.5 g or approximately 45 kg.

6. Change 1- Ib to kilograms.

1-1b=1.251b

1.251b + 2.2 Ib/kg = 0.568 kg

0.568 kg x 1000 g/kg =568 g

Most students should be able to eliminate some choices (such as 97 g and 124 g)
immediately. Many students may try to guess-and-check for this question and assume that
they only buy 2 pieces of Stilton. In this case, they would likely choose 253 g and 398 g for a
total of 651 g. However, if they choose 398 g, 124 g, and 97 g, they will buy only 619 g.

7. Find the area of 20 sheets of drywall.
20 x (4" x 8")/sheet = 640 ft*

Find the weight of 640 ft* of drywall.
640 ft* x 1.7 Ib/ft*= 1088 b

Each tile is 6" by 6", so 4 tiles are equivalent to 1 ft*.
480 tiles + 4 tiles/ft* = 120 ft*

Find the weight of 120 ft* of tiles.

120 ft* x 2.4 1b/ft* =288 1b

Find the total weight of the load.

1088 Ib + 288 1b=1376 1b

Find the weight in kilograms.

1376 1b + 2.2 Ib/kg =~ 625 kg

Extend Your Thinking

8. a) Jupiter is the largest planet, so students will probably guess that they would weigh most
on Jupiter.

b) Mercury is the smallest planet, so students will likely suggest that they would weigh least
on Mercury.

Have students use the internet (for example
http://www.onlineconversion.com/weight on_other planets.htm) to determine the
conversion factors for weight on different planets.
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